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Answer either in English or in Assamese
A\
1. Choose the correct answer : 1x6=6

o5 Tearh AR Tfrea -
(a) The author of the book, Republic is
Republic T &1 foree 2A
(i) Locke / #'%
(ii) Descartes / CSFI0
(iii) Berkeley / I
(iv) Plato / CERI
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. {p

Pral -
(2) j (3)
(b) The theory of innate ideas was refuted by J (d) The author of the book, Principles of Nature
HEETS YA IS IR } and of Grace is
(i) Kant | Principles of Nature and of Grace WS
"5 | SR e T
(i) Spinoza | (i) Locke
foozare T
(iii) Locke (ii) Hume
AP f&%m
(iv) Descartes (iii) Kant
ol TS
(c) “All determination is negation.”” Who is (iv) Leibniz
related to this statement? LESIT
s @1 MR Aede )’ 9% SRR (e) The profounder of subjective idealism is
FNS (F TS ? , TS TRANE 2TEF XA
(i) Aristotle (i) Descartes
«fR8% p—
(ii) Locke ‘ (ii) Spinoza
T 1 fooaren
(iii) Spinoza | (iii) Berkeley
(iv) Plato (iv) Plato
CoITot oo
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(4)

(/) How many synthetic judgements are there
according to Kant?

FFHY TS TRCITNAS TR (IR oIS ?
(i) Three
fof
(ii) One
G P
(iii) Two

S

(iv) Five

b

2. Answer the following questions : 2x5=10
RafiRe ercare e i -

(a) What do you mean by the ‘theory of
interaction’?
M=ol fPRm 3P R qm 2

State two characteristics of Spinoza’s
substance,

(c) What is Monad?
TG 15 2

(b)
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(5)

(d) Name two famous books of Berkeley.

IR e R argd = o o

(e) What is opinion according to Plato?

CEBR NS VoS gl ¥ 2

3. Answer the following questions (any six) : 5%6=30

AR 2res e i (R e wb) -

(a) Discuss Plato’s theory of knowledge.

CETCO W YIRS T |

(b) Discuss the Kant’s synthetic
judgement. .

a-priori

P9 TRCIANEE  SSwOH  SRYRT ol

Sican-l ¥4 |

(c) Discuss Descartes’ dictum ‘cogito ergo

sum’.
(ST “cogito ergo sum’ TSIMCOI
9]0

TG

(d) How does Spinoza develop Descartes’
theory of substance? Discuss briefly.

RAER (T (TIIDY TSGR RIP

TR 7 T SCABN 7 |
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(6) (7)

’

(e) Explain Leibniz’s conception of supreme (b) Explain Leibniz’s theory of ‘pre- established

monad. , harmony’.
wiERe S e Ry e 340 ) AiRafes RS RIARM TSI 0
911
() Explain the significance of the statement
“Esse est percipi’’. ' (c) Discuss Plato’s theory of ideas.
“Egse est percipi’” @2 SR oo R CETBIY 2O TSIIWCH! ST 37 |
ES1l
4. Answer the following questions (any one) : 14
(g) What is scepticism? Is Hume a sceptic? )
Discuss. fafiRe e tes fan (R @ @) -
womEw 7 RBY @EW ORRW T/A? (a) Discuss Hume’s theory of causation.
ST T | - RoNR SRR TSI SIS F4 |
(h) Explai.n after Kant, the distinction between : (b) How Ryle criticizes mind-body dualism of
MWC and synthetic judgements. Descartes? Discuss.
s RwE Romme wF  TRORTNE :
A (T TH-C7% (TSR (AL I
SRYRR WS NI 7 4oy, IR F0 <RRE1 7 S |
(i) Explain Kant’s classification of proposition.
Froq e MRerer R e 3411 * kK
3. Answer the following questions (any two) : 10x2=20
AR Ry Tes foar (R @i 991) -
(a) How does Descartes explain the relation
between mind and body? Discuss.
(SIICH T F (T2 WMo FoNE (I I
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